Center O' Mass problems

	
	1.  The centers of two spherical masses, one 387.2 g the other 283.12 g, are separated by a distance of 37.2 cm.  How far is the center of mass of the two masses from the center of the larger?

	
	2. How far is the center of mass of the earth and the moon from the center of the earth?

	
	3. A 60.0 Kg child sits 4.35 m from the pivot of a teeter-totter.  How far from the pivot on the opposite side must a 90.0 Kg adult sit to balance?

	
	4. Devise a geometric way to find the center of mass of any triangle using a straight edge, and a compass.

	
	5. A 4.76 x 1031 Kg star orbits a dark companion.  The star is 5.82 x 109 m from the center of mass of the system, and the companion is about 1 x 107m from the center of rotation of the system.  What is the mass of the dark companion?
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